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CLAT 2020 

Sample Question  

Paper 3 
 

Time Allowed: 120 Minutes                                       Maximum Marks: 150 

 
 

INSTRUCTION TO CANDIDATE 
 

1. This booklet contains 150 questions in all comprising the following five 
parts: 
 
Section No. of Question 
1. English Language 30  
2. Current Affairs, including General 
Knowledge 

37 

3. Legal Reasoning 37 
4. Logical Reasoning 31 
5. Quantitative Techniques 15 
Total 150 

 
 
2. All questions carry 1 mark each. 
3. Negative marking. 0.25 marks will be deducted for each wrong answer. 
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 [Extracted, with edits and revisions, from The Transformative Constitution: A Radical Biography in Nine 

Acts, by Gautam Bhatia, HarperCollins Publishers India, 2019.] 

 

105. Which of the following could be an example of an ‘exclusionary covenant’, as described by the 

author? 

(a) A provision in a rent agreement for a residential apartment which states that the tenant may not use the 

apartment for any illegal purposes. 

(b) A social media website where people can view each other’s photographs, whose terms of service prohibit 

any persons belonging to a certain ethnicity from becoming members. 

(c) A provision in a contract for the sale of a property which specifies that the seller would only hand over the 

property to the buyer upon receiving the full sale price of the property. 

(d) A provision in a rent agreement that provides that the apartment would not be rented to persons belonging 

to a certain religion. 

106. Which of the following is the author of the passage above least likely to agree with? 

(a) Exclusionary covenants are bad because they provide for restrictions on the basis of matters that are 

normally considered discriminatory. 

(b) Exclusionary covenants are bad because they make matters difficult for people who until recently been 

formally treated as second-class citizens in law. 

(c) Exclusionary covenants are bad because they make a contract very difficult to read and understand. 

(d) Exclusionary covenants are bad because they fall at the intersection of the private right of contract and the 

public evil of discrimination. 

107. Which of the following is the author of the passage above most likely to agree with? 

(a) Solutions to the problem of housing discrimination have to be found in creative manners by courts. 

(b) Solutions to the problem of housing discrimination have not been achieved anywhere in the world. 

(c) Solutions to the problem of housing discrimination can only be achieved by changing contract law. 

(d) Housing discrimination is not really a problem, and courts need not try and find a solution for it. 

108. The author describes three creative solutions that courts in countries that broadly respect the 

freedom of contract while also enshrining a constitutional guarantee of non-discrimination have come 

up with to solve the problem of housing discrimination; which of the following is not such a solution? 

(a) Courts refusing to give effect to a contract that provides for housing discrimination. 

(b) Courts invalidating a contract that provides for housing discrimination. 
(c) Courts imposing steep fines on a party to a contract providing for housing discrimination. 

(d) None of the above. 

109. Which of the following situations is most similar to the “troublesome legal problem” posed by 

exclusionary covenants, as described in the passage above? 

(a) A law passed by Parliament which provides for discrimination on grounds of religion in matters of 

citizenship. 

(b) A private company which states that it will not hire as employees persons belonging to certain castes. 

(c) A shopkeeper who refuses to open their shop for business on certain days of the week. 

(d) A restaurant that only serves vegetarian food. 

110. Which of the following, if true, would most weaken the author’s arguments in the passage above? 

(a) Groups that received formal discrimination as second-class citizens until recently are provided strong rights 

upon receiving legal emancipation that prevent the use of exclusionary covenants against them in contracts. 

(b) Groups that received formal discrimination as second-class citizens until recently continue to suffer 

discrimination in informal manners even after they achieve legal emancipation. 

(c) Groups that received formal discrimination as second-class citizens until recently often encounter bias and 

unfair treatment through informal means, even after they have secured their legal rights. 

(d) Groups that face discrimination and bias through informal means may or may not also suffer formal 

discrimination as second-class citizens. 
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It is time that we show successes and accelerations in ecological awareness, action and restoration; stories that 
include past successes and future visions about the rise of urban gardening and of renaturalised riverscapes, of 
successful protests against polluted air and water, of the rise of regional markets and slow food, and the planting of 
trees around the globe, of initiatives and enterprises that work towards ecological restoration, of the return of squid 
to the ocean and of bison along the Dutch coast, of small communities that create their own energy, of the rise of 
ecological thinking and of environmental programmes, of victories for the rights and wellbeing of humans and nature. 
The reality of ecological curses seems far greater than the power of the hopes left at the bottom of Pandora’s box. But 
if we believe that nothing can be changed, then we are giving up our opportunity to act. 
Identifying ways to transcend the craze of consumption, production, travel and extreme workloads in a merry-go-
round world can be inspiring and subversive.  Our saving powers will come from diverse cultures and initiatives, from 
thinkers and mavericks and urban and rural communities around the world. They will come from a growing number 
of people who understand the power inherent in the way that we imagine better worlds, who think creatively and act 
ecologically: from women and men who are inspired by slow hope. 
[Extracted from: “Slow Hope”, by Christof Mauch, Aeon,
 

118. Which of the following best describes the problem that the author says we “need stories and
histories of change and transformation” to solve?
(a) That the public is tired of hearing about cataclysmic situations, especially when it seems so difficult and near-
impossible to solve them.
(b) That the public loves hearing about cataclysmic situations, especially when it seems so difficult and near-
impossible to solve them.
(c) That the public does not wish to live in a better world or a better society.
(d) That scientists have no credibility in the eyes of the public.

119. Which of the following best describes the author’s argument?
(a) The author questions the validity of the anxieties about climate change, resource exhaustion and potential
ecological disaster.
(b) The author argues that climate change, resource exhaustion and potential ecological disaster can be reversed
by a collective refusal to share and publish never-ending scenarios of doom and apocalypse.
(c) The author feels that taking inspiration from stories of positive change and acting in ways that contribute
towards a better future in the face of climate change, resource exhaustion and potential ecological disaster is the
right thing to do at this stage.
(d) The author finds aspirations to transcend the craze of consumption, production, travel and extreme
workloads to be vain fantasies of mavericks who will surely fail in their attempts.

120. If the underlined sentence in the passage is true, which of the following must also be true?
(a) Incessant recollection of failures of the past will not help one get out of a present rut and may, in fact, cloud
the path that lies ahead.
(b) There is great power in refusing to acknowledge one’s failures and proceeding as though a better future is
inevitable.
(c) Given a choice between learning from one’s failures and focusing on visions of future success, engaging in the
former leads to better outcomes.
(d) Mavericks and creative people are immune from paralysis and inaction.

121. Which of the following offers the strongest criticism of the arguments made by the author?
(a) The state of the planet has reached a point of no return; positive action now will lead to little more than
momentary illusions of hope.
(b) There is no sense in continuing to believe that incremental action at the level of individuals will lead to
measurable change.
(c) The possibility of immediate and radical action is the only antidote to the threats that the planet and its
inhabitants face today.
(d) The optimists and the advocates of hope would do best to remember that it is baseless visions of paradises of
the future that induced complacency in the human race and have brought the planet to the brink of a collapse.
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125. Which of the following is the author most likely to agree with? 

(a) The Russian people vote for Vladimir Putin because he is a strong ruler. 

(b) The Russian people vote for Vladimir Putin because they fear that the alternative is a return to the chaos 

they witnessed after the end of communist rule. 

(c) The Russian people vote for Vladimir Putin because opposition candidates do not have a clear agenda. 

(d) The Russian people vote for Vladimir Putin because he has brought about genuine reform and progress in 

Russia. 

126. Which of the following, if true, would most weaken the author’s explanation for why Vladimir Putin 

wins elections? 

(a) Most Russian voters remember the time of chaos that resulted after the end of communist rule in the 

country. 

(b) Opposition candidates in Russia are unable to deliver a cohesive message that provides reassurance to 

Russian voters. 

(c) Vladimir Putin makes efforts to project himself as a strong leader, often releasing pictures of him riding a 

horse bareback or fighting a bear barehanded. 

(d) Opposition candidates in Russian elections are allowed unrestricted access to the public, and a strict ethical 

code of conduct is enforced in campaigning so that the elections are free and fair. 

127. Which of the following, according to the author, are factors contributing to the Kremlin’s increasing 

weakness to guarantee victories in elections? 

(a) The state’s ability to deploy brute force has reduced in recent times. 

(b) Russia’s reliance on energy exports has exposed it to volatility in global markets. 

(c) The state has not been able to support living standards in recent times. 

(d) All of the above. 

128. Which of the following most accurately represents the author’s main point in the passage above? 

(a) Josef Stalin’s record of having ruled Russia for the longest period of time is under challenge from Vladimir 

Putin’s latest set of constitutional reforms. 

(b) The Russian state’s tactic of exploiting the trauma that Russians remember from the 1990s to create a 

nationalist doctrine is beginning to face challenges because of the state’s inability to maintain living standards, 

and Russia’s increasing exposure to global uncertainties. 

(c) Dmitry Medvedev has become increasingly uncomfortable with being perceived as a puppet leader, and is 

making moves to weaken Vladimir Putin’s authority in the minds of the Russian public. 
(d) When a country is linked to the global economy, such as in the case of Russia with its energy exports, there is 

a chance that democracy may flourish in that country. 

129. Which of the following best represents why the author says that “Vladimir Putin has been Russia’s 

president since 2012, but he has been running the country continuously for two decades”? 

(a) Because he has been a senior member of the bureaucracy for that much time. 

(b) Because for the period he was not president of Russia, the president was someone who was under Vladimir 

Putin’s control. 

(c) Because he was both, prime minister and president of Russia for a short duration. 

(d) Because Vladimir Putin has never lost an election in Russia. 

130. Which of the following could be a valid explanation for why “Russia’s reliance on energy exports 

makes it vulnerable to volatility in global markets”? 

(a) Russian trucks supplying fuel are old, and keep breaking down. 

(b) Russian businessmen in the fuel sector routinely face harassment from public authorities. 

(c) The prices of fuel in global markets tend not to change too much. 

(d) The prices of fuel in global markets change a lot, and Russia is affected by this since it relies heavily on the 

revenue it earns from energy exports. 
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Some statements are set out below, followed by some conclusions. Assume the statements are true, even if 

they appear to be at variance from facts you otherwise may know to be true. Disregard all commonly known 

facts, and identify the conclusions that logically and definitely follow from the corresponding statement/s: 

131. Statement: All dogs are mammals  

Conclusion: 

I : All dogs are humans Conclusion 

II : All humans are mammals 

(a) Only I follows 

(b) Only II follows 

(c) Both, I and II follow 

(d) Neither I nor II follows 

132. Statement I: All racquet sports use a ball  

Statement II : All balls are squares 

Conclusion  

I : Squares are only used in racquet sports  

II : All squares are balls 

(a) Only I follows 

(b) Only II follows 

(c) Both, I and II follow 

(d) Neither I nor II follows 

133. Statement  

I : Some books are songs  

II : All songs are movies  

III : Some dances are books  

Conclusion  

I : All books are movies  

II : Some dances are movies  

III : All movies are dances  

IV : Some books are movies 

(a) Only IV follows 

(b) Only II follows 
(c) Only I follows 

(d) Only III follows 

134. Statement: 

I : Some books are songs  

II : All songs are movies  

III : All dances are books  

IV : No movies are dances 

 Conclusion  

I : Some dances are songs  

II : Some books are movies  

III : Some movies are songs  

IV : No books are dances 

(a) Only I and II follow 

(b) Only III and IV follow 

(c) Only II and III follow 

(d) Only I and IV follow 
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135. Statement  

I : Some books are songs  

II : Some songs are books  

III : Some dances are movies  

IV : All books are movies  

Conclusion 

 I : Some dances are songs  

II : Some songs are dances  

III : Some movies are dances  

IV : No books are dances 

(a) Only I follows 

(b) Only III follows 

(c) Only II follows 

(d) None of the options follow 

 

-----------------------XX--------------------------- 

 

Quantitative Techniques 
 

Directions: Read the passage and answer the given questions.  
 

Mr. Khatri bought Bahi-Khata bookstore with an opening stock of ‘x’ books. Before opening the shop for sale, he 

doubled the opening stock. In the first sale, he sold ‘y’ books. He bought more books such that the stock was now 

thrice the remainder and sold twice the number he sold the first time. Then he bought more books such that the 

stock was now four times the remainder and sold double the number than the last sale. He again increased his stock 

to five times the remainder and again sold twice the number of the previous time after which there were no books 

left to sell. 

136. If the opening stock is 64 books, how many books did Mr. Khatri sell in the first sale? 

(a) 64   (b) 63 

(c) 60   (d) 72 

137. If the closing stock at the end of all the purchases and sales described in the passage is 12y (where y is the 

same as the answer to the previous question 1.1) instead of nil, how many books would there have been in the 

opening stock? 

(a) 64   (b) 70 

(c) 80   (d) 86 

138. Assuming that the facts set out in the passage remain the same, what is the minimum opening stock 

required, such that Mr. Khatri has no books left to sell at the end of the transactions described in the passage? 

(a) 18   (b) 12 

(c) 15   (d) 16 

139. If Mr. Khatri purchased only x books each of the four times, but sold the same number as described in the 

main passage, and the closing stock is nil, then choose the correct option: 

(a) x > y   (b) x < y 

(c) x = y   (d) Cannot be determined 

140. Using the information in the previous question 1.4, and the additional data given below, find x (where ‘x’ is 

the opening stock of books): The cost of all books in stock was Rs. 25,000 and they were sold for a total of Rs. 

60,000 at Rs. 40 each. 

(a) 100   (b) 220 

(c) 150   (d) 300 
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